4/7//57
Find the value of 2x? AUz,
when x = 3 4
X =3
2Zx3 =0
Gt = 0
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()
Simplify
2X =3y +4x + 2y

2X + 4X = GX

3V + 2y = by
[ [ [

GX - 5\/

O
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M5 6
Find the value of x2-x . e,
when x = -2 4
X = -2
22- 7
“4+2=-2

_/
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(&)
Simplify
2% + 33X — X2 - 2x?

5y
4/4//87 /G
e, I3F)

2+3-1-2=2

2X% + 3% - X% - 2 = 2%?

_/

@)
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/Simplify

8a + 4ab —4a

2a

4a + 4ab

Gmplify

3y5 % 5y3

2a

3><\l/5><‘5x\ll3

Za + 4b
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&)
~

Simplify
(2x°)*

24 x ()

- B2

= [5y5
plify
oyl +12y3
122
Gy
7 ___2\/_4

O
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/Expand and simplify Mf%,f /

e
4(x+1) —3(x—2) /
IXx+4-3x -6
=X-2
) ~/
/ : M/ﬁ@l"
Factorise completely g, /
16ab — 24a y
_ 2A8ab - 12a)
= Za(8b - 17)

o J,
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&y,
/ Mts e
Sra,
Expand ",
xy(2x + 3y)
2xyZz + 3xyZ
- 5xy2

www.mathsbox.org.uk

N O

Factorise completely
15x%yz - 45xy?z

5y
4/4//87 /G
e, I3F)

I5( X2yZ - 3xy22)

= l5xyz(x - 3xy7

O
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. BIe
/Expand and simplify /%k,i
QJJ\{;?)
(X — 5) (X + 5) y
- 5% - DX - 25

= X- - |Ox - 25
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(M)
~

8
Solve e,
—15x=0 4
x(x - IB) =
Xx-B6=0
X =I5

O
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1y 5l
e,
/Solve Sy /

’4/(@
X+2=5 /
3
X+2=15
X = |2
(N) =/
8
/ /‘/7/3/@
)
Solve %%/
X2—=x-12=0 /
(x - 3)x +14) =
X-2=0 X+4=0
X =3 X=-4

(P) _/
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( oves sy
Solve simultaneously %rg,/

A

3p+5q=7
p—29=-5
p-2q-=-5(x3)
3D+5 =7
- = —5 P - Ix-4= ’5
-d = -2 l'p=—29
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Q
(u

8
Make x the subject of the formulzgw/a‘iﬁ,q,ij /
V= a—X
b
by = a - x
X=by-a
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O

Solve g, /
3<5x—-2<23
5<bx <26
l<x<b5

_/

&)
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V= ayx

8y,

/ ' N
Make x the subject of the formula” qu,r /
g

A

VX =V
a
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